SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25) ; J
SUBJECT: ENGLISH TEXT EPICIT
STD : 1V MARKS: 60
DATE : 23-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION - A (OBJECTIVE)
Q.1 (A) Choose the correct answer from given options. (0.5x10=5)

1. Shetty granted wishes to the fir tree.
(a) five (b) four (c) three (d) two

A person who cannot hear is
(a) lame (b) blind (c) mute (d) deaf
The rabbit had eyes.

(a) brown (b) red (c) pink (d) blue

The rabbit had a 1n his waistcoat.
(a) key (b) watch (c) lock (d) ring

Helen could not

(a) see or hear (b) walk or talk (c) see or walk  (d) hear or talk

1s never harsh.
(a) Earth (b) World (c) Sunlight (d) Moonlight
Alice saw fountain in the garden.
(a) small (b) golden (c) bright (d) cool
Nasruddin hit the target at

(a) the first time (b) the second time
(c) the third time (d) the fourth time
Who is the poet of the poem ‘Noses’?

(a) Aileen Fisher (b) Mary Daunt

(c) H.W. Longfellow (d) Ruskin Bond
The boy in the poem ‘Why’ is

(a) curious (b) sad (c) naughty (d) brave




Q.1 (B) Fillin the blanks with appropriate words from the brackets.

(two men, kind, goat, words, broke)

came and ate all the green leaves.

came along and stole the gold leaves.

The wind the glass leaves.

Miss Sullivan was strict but

(0.5x5=2.5)

Helen understood that were the most important things in the world.

Match the following.

Chatting shooting with a bow and arrow
Amazement talking informally

Archery protecting from attack
Defending great surprised

Target the goal intended to be hit

State whether the following statements are ‘True’ or ‘False’.

1.

2
3
4.
5

Alice was listening to a song.

Alice wished she could be taller.

The boy wanted to know why the sun sinks behind the hills.
Shetty wanted to reward the tree.

If you want to giggle you should look into the mirror.

Q.2 (B) Write antonym of the following words.

1.
3.
5.

Friends 2. Smart
Appear 4.  Known
Always

Q.2 (C) Write the meaning and make sentences of the following words.

1.
3.
5.

Raindrops 2.  Breathing
Afraid 4.  Illness

Forever

(0.5x5=2.5)

(0.5x5=2.5)

(0.5x5=2.5)




Q.3 (A) Write the rhyming word for the underlined word.
1.  Why is the so high?

Do you know the colour of

Put the glass in the sink after you finish your

2
3. Have you you found who made the
4
5

I saw your red tshirt on the
Write one word for these which means.
To walk fast

Happy
To think

At once
To be inquisitive

SECTION - B (SUBJECTIVE)

The spellings of these words are jumbled. Put them right and make sentences of
your own. (1x5=5)
1. wokn 2.  wism

3. dael 4.  Dblarme

5. llihs

Answer the following questions in one sentence.

Although Helen could not hear or see, what kind of girl was she?
What happens when the day is over?

Where did the rabbit go?

What did Nasruddin boast about?

Name any two games that you play, in which you have to run.

Who was Shetty?
Q.5 (A) Answer the following questions in short.

1. Describe in your own words the garden that Alice saw.
2. What did Helen learn when the teacher put her hand into running water?

3. Why did Nasruddin say, “It was my aim” the third time?




Q.5 (B) Answer the following questions in detail. (2.5x2=5)

1.  Classify the following actions which will make others happy/unhappy.

(respecting others, not saying thank you, being polite, playing with friends, visiting

a sick friend, not sharing, telling lies, being greedy)

What does ‘features mean’? What are the different kinds of features of people we

come across in the world?
Q.6 (A) Who said to whom? (1x4=4)

“Thank you, you have been kind to me.”
“It wasn’t my aim. It was Azad’s aim.”
“I like my old needle like leaves best.”

“Oh, my ears and whiskers! How late it’s getting!”
Complete the stanza.

Run in the raindrops




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: ENGLISH GRAMMAR

MARKS: 60
DATE : 16-10-2024 TIME: 2.00 hrs.

INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION - A (OBJECTIVE)
Q-1 (A) Classify given words in the proper columns. (0.5x12=6)
[ bull, vixen, pencil, almirah, princess,

cow, wall, queen, book, prince, fox, Kking |

MASCULINE FEMININE NEUTER

(B) Fill in the blanks with appropriate verbs. (0.5x6=3)

Ramdeen is the plant. (water)

Mrs. Renu is the class. (teach)

Grandpa is newspaper. (read)

I no extra pen. (has/have)

Our school a huge playground. (has/have)
Max and John childhood friends. (is/ are)

Add the letter to the given letters to create verbs (0.5x6=3)

1. Re 2. Ma

Wr 4. Gi

5. Ta 6. Th

Match the nouns with the pronouns which are given below. (0.5x4=2)
A B
Boys and girls
Rohan
Elephant

Soniya




Q-2 (A) Fillin the blanks with correct sound from the brackets.
1. Apes . (growl/ gibber)
Bees . (buzz/ hiss)
Asses . (cackle/ bray)
Bitterns .(bray/ boom)
Chickens . (peep/ growl)
Geese . (boom/cackle)

Fill in the blanks with suitable adjectives given in the brackets.

[ innocent, famous, great, interesting, tidy, green|

Mr. Mohit is looking very today.

Gulliver’s Travels is an story.

Mohak bought some vegetables.

I saw an man while going to school.

Sachin Tendulkar is a cricketer.

Gandhiji was a patriot.

Fill in the blanks with suitable words from the brackets.

1. The boy forgot maths book at home. (his/ her)

That is house. ( theirs / their)

Nisha is walking with dog. (her/his)

The driver could not control the speed of car. (her/his)

Jack and Victoria are going to a fair with

The baby is crying for mother. (his/its)

Fill in the blanks with correct degree of adjectives.

1. Sam is the boy in the class. (Intelligent)

Rohan’s bouquet is than any other’s in the party. (pretty)

I have purchased three shirts. The green one is the

(0.5%6=3)

(0.5%6=3)

(0.5%6=3)

father. (her/their)

(1x5=5)

. (Costly )

John is tall boy but Julien is the in the whole class. (Tall)

In my section all are my friends. But Hazel is my

friend. ( good)




Q-3 (B) Fillin the blanks with suitable adverbs given in the brackets.
[ softly, hard, carefully, weekend ]

1. Latais sniffing the flower

At the we set out for outing.

Manish hardly makes mistakes because he works

Labourers worked to build the huge building.

Q-3 (C) Fillin the blanks with suitable pronouns given in the brackets.
1. This pet dog belongs to Nikunj. This dog is

This shop belongs to Mr. Mehta and his sons. The shop is

(0.5%x4=2)

(0.5%4=2)

. (His/theirs)
. (His/theirs)

(his/ its)

2
3. This chain belongs to Tommy. This chain is
4

This doll belongs to Nikita. This doll is

SECTION -B (SUBJECTIVE)

. (theirs/hers)

Q-4 (A) Write the gender of the underlined words (nouns) and rewrite the sentences.

My sister is talking to my niece.
The man was looking at the picture.
Ravi was feeding the cows.

Uncle is giving a parcel to Mathew.

Have you seen our servant anywhere?

Underline the adverbs and write what kind of adverbs
Naveen speaks to me politely.
Children come here to play twice a week.
Renuka participated in the competition last year.
John is taking a bath now.
Mr. Bose occasionally delivers lecture.

(1x5=5)

(1x5=5)

Write an essay on any one topic “Our national flag” or “Pollution” in 100 to 150

words.

(1x5=5)

Write a letter to your friend telling him about the benefits of reading book (1x5=5)

OR

Werite a letter to your father requesting him to send money for an educational trip

to Manali.




Q.5 (B) Read the following passage carefully and answer the given questions. (1 x5=5)

Q.5 (C) A trader used to live in Jerusalem. Once he was passing through a narrow street. He
was going to a city with some valuable goods. He was on a horse. While riding he was
chased by some dacoits. They stopped the trader, beat him mercilessly and looted all
his valuables and fled away. The trader was beaten so hard that he fainted. After
sometime a kind person saw the trader's bleeding. He took him to a hospital for
treatment on horseback.

Questions:
1 Where did the trader live?
Where was he passing through?
Why the trader got fainted?
Why was the trader chased by dacoits?
Who helped the trader and took him to the hospital?

Q-6. Describe the following picture. (1x3=3)




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: ENVIRONMENTAL STUDIES
MARKS: 60
DATE : 19-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION - A (OBJECTIVE)
Q1. Select the correct option : [0.5 X 10=75]
1. Which is the largest river of Gujarat?
A) Narmada B) Tapi C) Mahi D) Sabarmati
What is not seen in a baby’s mouth at the time of its birth?
A) A tongue B) Teeth C) Palate D) Lips
Which tool a mason use for laying bricks and plastering?
A) An anvil B) A hammer C) A trowel D) A scissor
In which state did the tree lover named Amrita Devi live?
A) Gujarat B) Maharashtra  C) Madhya Pradesh D) Rajasthan
When does a litchi tree flower blooms?
A) February B) March C) January D) December
How many medals in international events has Karnam Malleswari won?
A) 20 B) 29 C) 49 D) 39
Who argued that Shyamala had taken a breath in between?
A) Rekha B) Sushila C) Rosy D) Vasudha
Which of the following vegetables grows as a root ?
A) Cauliflower  B) Cabbage C) Brinjal D) Carrot
Which of the following substances does not dissolve in water?

A) Sand B) Sugar C) Salt D) Edible soda

Whom did Amrita meet on waking up every day?

A) Parents B) Trees C) Friends D) Pets




Q2. (A) State whether the following statements are ‘True’ or ‘False’. [0.5x 8 = 4]
1. Kabaddiis a game of bravery.
Aquatic creatures die due to water pollution caused by industrial waste.
Roots are the part of plant that grow under the ground.

A baby has teeth since birth.

The king’s men had come to cut down the trees.

Riya told Jiya to write all the details about the journey.

2
3
4
5. Honey bees are attracted less to litchi flowers.
6
7
8

Riya went in car from railway station to her mama’s house.
Match the following : [0.5x6 = 3]
Column A Column B
Sarita Gaekwad . baby sister’s birth
Sania Mirza . make beehive
Neem flower . Runner
Black smith . Tennis
Worker bees e. used as medicine
Kiran’s family f.  Anvil
Fill in the blanks with appropriate words :
1. part of the khejadi trees is used as medicine.
Riya borrowed a story book from
There are in the mouth to chew the food.
Karnam Malleswari can lift a weight of  kg.
Kabirvad is situated in district.
The kitchen of Nilabhai’s house is made in the
The children made castle on the beach.

In Kerala, people eat vegetables made from




(B) Classify the following vegetables into those growing under the ground and those the

growing above the ground [1.5x2=3]

[Cauliflower, Cabbage, Ginger, Turmeric, Sweet potato, Cucumber]
A) Vegetables growing under the ground:
B) Vegetables growing above the ground :

Q4. (A) Recognise the picture and write one sentence about it :

B)

Q4. Write the difference between Kutcha house and Pucca house:




SECTION -B (SUBJECTIVE)

Q.5 (A) Answer the following questions in 2-3 sentences:

1.
2.
3.

What are the different kinds of aquatic animals?
Who inspired and supported Jwala, Leela and Heera to play Kabaddi?

What are prop roots?

(B) Answer the following questions in short: [3x3=9]

1.
2.
3.

Why did the Nilabhai’s father has to leave Pakistan and come to India?
Draw and colour the picture of two vegetables which grow under the ground .

Write importance of Khejadi Tree.

Q6 (A) Answer the following in detail: [2.5x4=10]

1.

What did Riya see at the crossing?
Write a short note: Karnam Malleswari
How did Anita start her bee keeping business?

How did Riya and Fiyona become friends?

(B) Describe the picture in five sentences.




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: MATHEMATICS
MARKS: 60

DATE : 21-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION- A (OBJECTIVE)
Q.1 (A) Fillin the blanks:

1. 4x600ml= ml.

The ink of a pen is measures in =

2

3. The Biggest unit of capacity is =
4. 359.88= paise.
5

The standard unit of capacity is =

Choose the correct option: [1x10=10]
1) If the cost of diesel 90 per litre, then the cost of 40 litre diesel is
(a) 33600 (b) %3520 (c) 33433 (d)X 3620
2) If 15 students can travel in one van, then 225 students can travel in
(a)12 (b) 15 (c) 10 (d) 13
3) A seller was selling 4 packets of chips for I40 in an offer. Joy bought 5 such
packets. How much money did he pay?
(a) 20 (b) 60 (c) 50 (d) 30
How many X100 notes can make 9007
(a) 12 (b) 9 (c) 20 (d)3

The unit for measure the capacity of milk in a glass is

(a) mililitres (b) litres (c) metres (d) grams

R 5= paise

(a) 500 (b) 200 (c) 400 (d) 900
1 more than 999 is

(a) 972 (b) 1000 (c) 876 (d) 990
What we use for 6: 45 in the morning

(a) p.m (b) am (c ) night (d) hour




9)  Which number comes exactly between 550 and 650
(a) 500 (b) 600 (c) 640 (d) 700

10) The unit to measure the capacity a glass of water is

(a) Mililitres (b) litres (c ) metres (d) grams

Change into 24- hour clock time: [0.5x 6 = 3]
) 2:30pm=___ 2) 6:45 am = 3)12 in day =

4) 7:50am= 5) 6:05 pm= 6) 5:20 am=

Write the correct form you will use in the following conditions, (Out of a.m or
p-m):. [0.5 x 6=3]
1) Going to sleep at 9:30 =

2)  Dinner time 8:00 =

3) School time at 7:20 =

4)  Breakfast at 7:00 =

5)  8:30 at the night =

6) 2 hours after 5:00 p.m.=

Put < , > or = in the blanks to compare money: [0.5 x 6=3]
1) 645 X784 4)X550_ X505

2) RR7464__ X79.64 5)3470 47246

3) 948 3846.87 6)I555_ X519.26

(D) Draw the side, front and top view of bus:

(E) Show the time in the clocks by drawing hands:

4 0’ Clock Half past 6 Quarter to 5




SECTION - B (SUBJECTIVE)
Q.3 (A) Subtract:
1) 34L 838 ml from 54 L 998 ml
2) 72 L 890 ml from 102 L 185 ml
(B) Add:
1)512L263 ml and 130 L 138 ml
2) 143 L 432 mland 128 L 384ml

(C) Make greatest and Smallest number without repeating the digits: [1x5=15]

Digits Greatest Number Smallest Number
(1)  6,8,5,4
2) | 0,2,5,7
3  9,1,6,5
4 @ 2,5,0,3
S) | 9,7,04,

Q.4 (A) Find that if these things have profit or loss on being sold:

Item Cost Price Selling Price Profit or Loss

180




(B) Convert the following
1) 3400 paise =X
2) 42388 ml=
3) 23L128ml= ml
4) 3484 = paise
5) 6L600 ml= ml

Sonu and his friend Sagar went to Park along with his family in Bhopal. There are
different rides, out of which they took some rides. The following are the rides, their

cost and duration given in table. [S5x1=5]

Ride Name Ticket-price Duration for (one round)

Dragon ride _ %30 18 minutes
Jumbo monkey 220 20 minutes
Ferris wheel _ %30 15 minutes
Merry-go-round %45 05 minutes
Mini-train %25 20 minutes

Answer the following questions:

1. Which rides take less than 15 minutes to complete one round?
Which ride makes 3 rounds in an hour?
Which ride gives them the less time taking the most money.

What is the price for 1 round of mini- train?

2
3.
4.
5

Sonu and Sagar along with his family went for the Dragon ride. They paid I 400
in total. How many people went for the Dragon ride?

Q.5 Solve the following word problems: ( any three ) [3x2=06]

1)  Manish went for a movie. He bought a movie ticket for I465, a samosa for ¥50
and One packets of popcorn for X 95. find the total amount of money spent by
him ?

2)  Mr. Sohan is on 20 days leave starting from 8th October. On which date will he
join the office?

3) A busleaves Ahmedabad at 8:30 p.m. and reaches Vapi after 9 hours. At what
time does the bus reach Vapi?

4)  There are 20987 female teachers and 5686 male teachers in a state. What is the
total number of teachers in the state?

5)  Sonal types 40 words in a one minute. How many words would she types in 8
minutes?




SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: HINDI

MARKS: 60
DATE : 15-10-2024 TIME: 2.00 hrs.

INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION: A (OBJECTIVE)
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SECTION- B (SUBJECTIVE)
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SMT. S. G. ENG. MED. PRIMARY SCHOOL, GANDHINAGAR
SUMMATIVE ASSESSMENT -1 (2024-25)
SUBJECT: GUJARATI
MARKS: 60
DATE : 16-10-2024 TIME: 2.00 hrs.
INSTRUCTION: Attempt all the questions given in the question paper. Read the questions carefully.

SECTION —A ( OBJECTIVE)
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SECTION - B (SUBJECTIVE )
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